WF#A4CHS: 300003 WS TRIRR: SREEST NEgS . 2022-056

FE LR Br S ERA R
KT G2 7 e An e Bk 2] 192 BB 2R A &

AT REESEBFRAREAGTHAEEL. HEHNEE, 5FERILH.
RPUEHFRRE KB

R (ERD BEIT SR mA RA R (BURE R A7) 7202141172
HEFE AmE S VRS WS A e M 5 = — ke WU BGE
CRTIEIE A R 7 220 W . A RIHME ] B 5t 6 DL Sa 4 22 5 77 U]
W43 A w Ay, T RGBTl Bl 5% TR MRl o A YR T e f) 5 4 ML AN
T ARM30,000757c (%) HAME AR TS0,000/57c (&) , [HIEH %A
T NRM3STC/ME (£ o AU IR I 43 1A) ST it 1A B 3 38 2 o 13 I A% [ e e
5 R HEA 120 H o AR5 WA R T20214F 11 H 2 H B # 1 (O6T
B AE AR TR AEY (A5 : 2021-109) .

202111 H3H, 2w i id [ & FHIE S K 7 ARt a0 58 5 77 1U0R1 Y
ATy, BARPEVE AT F20215 110 HAH B FE 1 (T8 IR B A =] By
BAE) (Af%5: 2021-113) .

BWEARN G FEH AR AUEE BB 5 A =R H ] ik $1%,
MR CERYIRES 22 5 BT Bl A & AR IR 51 5895 —— I ) AOAHSGHLE
SN[ e J5 A7 3 P 17 50 158 B A0 °F

— KRR A i R E L

BERA G, AFE L UK P DL 5858 5 )7 a2
"l ety 18,273,500 i, (A ELEBAN Sy 1.0126%, SRS N 22.97
Toll . AR A 15.99 Ju/E, ML & RN 35,577.77 Jigt (AEAL 5%,
D

=, HAhyiA

(=) WA BTG IR A% BESR S (RYINESRZE 5 B il
AF BRI ETE S S —— RIS EHt%. & FRARREIME.



1. A FERIE T FUHAR [ A 7

(1) AFAFEEMRE . PEERE QST A S H A, PR HER A

HHMR, AEWALEHMT 5 HiRH,

(2) AFZFEERE . gt SR A ST+ 5 H W

(3) EATREA AR 5] B ZE28 5y M b 7o A B K S M) F) B K S IR A= 2 H Bl

e, EREHEZ HW;

(4)  [EIE 7 B8 3 23 51 2 e I Al A T o

2. AFEREARAFLEEZ H (BI2021911A3H) s EME S HA
] I 5 B E S 918,166.51 . A F] R HLANAE By H IR A7 B0 A
B A S SR AR H AT AN o H s ml i SR Bt S & 1 25% (R
4,541.6375 /%) -

3. HT TR RRHEEAE, S8R FIE20214 11 H 23 H IS i /N Py kAT
T RIAZFE, BARKE LA 7 CE20214E12 H 3HEFE 1 (ST B 2 =] A7 1 1
JEAEY (A%gs: 2021-118) |47 T U SO, B LRNES, AF]
LASE e 28 5 05 2 IR A 7 JBEAR 756 R 312K

(1) ZHEMMEAF A W2 H AZ 55 Tk BRI 1 4 4

(2) ARERYINESAE 5 BT B A a4 WSCBE A= /NE Y I AN T
Bk R BRI (R 22 2 E A EAT IR0 1B D) ) 234

(3) i ERES M B 3 2 R YIRE 558 5 B e (1 LAt 25K

(D 2w JE S ARIE T 1 0L, 72 1R HRR P 4k S S A iR m TR, I
ARAE AR IR L ERUAE I SO e, B JBAT A5 BER 5% . s K%

AERED-Eita PN

R A

IR B0 BRI AR AT BR 2 7]

HH
— Ot H=-+H



